VPH-1270Q

RM-1270

SECTION 2
DISASSEMBLY

2-1. REMOVING THE LENS.
@Remove the two terminal
screws (M4x16).

@ Remove the upper board in the
direction shown by the arrow.

@®Open the control panel door.

®Remove the two terminal
screws (M4x16). screws (M4x16),
®Remove the front panel by releasing

the catches at three locations. @ Remove the hood by

releasing the catches
at two locations.

location
@ Remove the lens.

®Remove the four screws
(PSW M5 x25).

@ Remove the lens spacer.

2-2. REMOVING THE PICTURE TUBE. @ Remove the four terminal
screws (M3x10).
@ Open the ED block assembly. \

HIGH VOLTAGE CABLE REMOVAL
@Remove the eight

terminal screws
(M3x10).

@ Pressing cable, turn 90°
@Puil out a high-tension lead
wire connected to HV BLOCK.

\/©Remove the
~ shield cover.
@ Remove the Picture

tube spacer.

(MRemove the four terminal

@2;"@‘)’;;*‘9 screws (M4x8).

@Remove the Picture tube neck assembly.
®Remove the Picture tube neck assemby.

®@Remove the deflecting yoke.

Q\ @Remove the Picture tube.

@ Remove the lens support.

@ Remove the four flange nuts (M5).



2-3. REMOVING THE POWER SOURCE BLOCK ASSEMBLY.

@Remove the eight connectors (PA-1~4, 6~9).

@@ Remove the five
screws (PS3x6).

B Y S
s e R G &/
\y O SN
nector ;
e ’d

® Remove the
four connec-
tors (K-2~5).

/\( ]
® Remove the con > X @2%
(NB-1). ‘
® Remove the SCrews—\.

(PS3x6).

STOPPER (A)

(DRemove the two terminal
screws (M4x8).

@Remove the power source block assembly.

2-4. REMOVING THE HIGH-VOLTAGE CURRENT BLOCK ASSEMBLY.
Note : Be sure to remove the lens (B) and to open the ED block assembly,
(refer to 2-1 and 2).

@ Remove the screw

(BVTP4x10).

-

>
QA

® Remove the high-voltage
current block assembly.

|
4

®Remove the screw
(ITTP4Xx16).

\ ‘N
N \,\
26N IV

SR

=

VPH-1270Q

RM-1270

@Remove the two junction

connectors.

@ Remove the terminal screw (M4Xx8).

(MRemove the two screws
(BVTP4x10)

@Release the catches
at two locations
and remove the
PB substrate.

I
=
@ Remove the high-voltage

‘| location

cyrrent block assembly.



VPH-1270Q

RM-1270

2-5. REMOVING THE RGB UNIT, BA BOARD, AND BB BLOCK ASSEMBLY.

® Remove the three terminal
screws (M3x10).

@Remove the RGB unit.

N \ ® Loosen the two lock screws
< A (the lock screws cannot be removed).
®Remove the connector panel holder.

b .
©*:grr:\?vv%\;38xt%r)n,mal ~#—— @Remove the three terminal screws (M3x10).

2-6. REMOVING THE CF-1, CF-2, CA (RG), CA (B) BOARDS,
Note : The ED block assembly should be opened and the BA board and
BB clock assembly should be removed beforehand. (see 2-2, 5).

@Remove the 14 terminal
%“/ screws (M3x10).

-

Remove the connector (CF2-2).
@ Remove the five terminal DRem n '

screws (M3x10).

@ Remove the shield cover in the
direction of arrow@®.

@Remove the three terminal @Remove the CF-2 board.

screws (M3x10). ® Remove the four screws

(BVTP3x8).

®Remove the connector (CAB-7).

Remove the three pin cables
(CAG-J1, CAR-J1, CAB-J1).

@Remove the CA (RG) board in
the direction of the arrow ©.

@ Remove the connector

(CAR-4). )
® Remove the CA (B) board in

@®Remove the two the direction of arrow®.

screws (BVTP3x8).
@ Remove the CF-1 board.

@ Remove the connector
(BM-8).



VPH-1270Q

RM-1270

2-7. REMOVING THE Y, DA, DB, DM BOARDS.

Note : « Be sure to first open the ED block assembly, and remove the CB board (see 2-2).
* Remove the high-voltage current block (see 2-4),
* Remove the RGB unit, BA board and BB block assembly (see 2-5),
* Remove the CF-1, CF-2, CA (RG) and CA (B) assemblies (see 2-6),

@Remove the three screws (BVTP3x8).

@Remove the three terminal screws (M3x%10).
@®Remove the board holder.

(@M Remove the Y board.
@Remove the DA board.
®Remove the DB board.

%4—- @ Remove the three

’ screws (ITTP4Xx16).

@MRemove the shield plate.

@®Remove the six
board holders.

’ﬁ.,
®Remove the two

.
screws (BVTP4x30). [‘@

@Remove the DC fan.

@Remove the C shield case.—m
@ Remove the screw (BVTP3x8).

@ Remove the shield plate.

®Remove the plate (Z).>,
@ Remove the three

Remove the

four screws ' ®Remove the shield case.
(TTPax 16) ),

1

I

terminal screws

(M3x10). . ﬁl'
@ Remove the plate —m- < : 3 2
. (@% ®Remove the

yd DC fan.

@Remove the two screws (B3x12).

@ Remove the four connectors ®Remove the two
(DM8, 8, 23, 29). screws (BVTP4x30).

%N y
®Remove the screw (ITTP4x 16). / ' @ Remove the twelve connectors

@Remove the DM board in the direction of arrow(®. (DM8, 7, 10, 11, 18~22, 27, 28, 35).
2-8. ATTACHMENT DIRECTION FOR THE DC FAN.,

exhaust fan
BVTP4x30

intake fan

e

- M®B;§x 25

intake fan




